#### FINANCIAL SERVICES COMMISSION

#### **OIR – Insurance Regulation**

RULE NO.:	RULE TITLE:
690-142.015	Standardized Requirements
	Applicable to Insurers After
	Hurricanes or Natural Disasters
	NOTICE OF CHANGE

Notice is hereby given that the following changes have been made to the proposed rule in accordance with subparagraph 120.54(3)(d)1., F.S., published in Vol. 32, No. 39, September 29, 2006 issue of the Florida Administrative Weekly.

1. 69O-142.015(1)(a) is revised to read:

(1) CLAIMS REPORTING REQUIREMENTS.

(a) All entities having direct premiums written in Florida and authorized, approved or otherwise eligible to provide the coverages indicated below in items 1. and 2. shall report the information required by Form OIR-DO-1681, "Catastrophic Event Data Reporting and Analysis", providing loss and associated exposure data within this state. The reporting shall be submitted with such frequency and for such areas as set forth in the Order activating this subsection and may be revised to reflect the phases of reporting necessary as set forth in form OIR-DO-1681. The applicable coverages are:

<u>1. Those coverages as defined in Sections 627.4025(1) and 215.555(2)(c), F.S.</u>

2. Other property coverages where loss is not specifically excluded in the policy's outline of coverage such as:

a. Private Passenger Auto Physical Damage;

b. Commercial Auto Physical Damage;

c. Commercial Property, including Fire and Allied Lines;

d. Commercial Multiple Peril;

e. Farmowners Multiple Peril;

f. Ocean Marine;

g. Inland Marine;

h. Aircraft;

i. Boiler and Machinery.

(b) The following form is hereby adopted and incorporated by reference:

<u>1. OIR-DO-1681 (revised 05/2007), "Catastrophic Event</u> Data Reporting and Analysis".

2. Copies of the form are available and may be printed from the Office's website: http://www.floir.com/.

<u>3. All information shall be submitted electronically</u> <u>through https://iportal.fldfs.com.</u>

2. 69O-142.015(2)(d) is revised by editing the third sentence to read:

The extension of time shall also not apply to new policies effective on or after the date of the Order.

3. 69O-142.015(2)(f) is revised by removing <u>"the week"</u> and inserting <u>"ten (10) calendar days".</u>

4. 69O-142.015(2)(g) is revised by deleting <u>"date"</u> and inserting <u>"expiration date"</u>.

5. 69O-142.015(2)(i) is revised by deleting "<u>policy or not</u>" and inserting "<u>policy and not".</u>

6. 69O-142.015(2)(n) is revised to read:

This rule shall not apply to new policies effective on or after the initial activation date specified in the order.

7. 69O-142.015(2)(q) is revised by editing the second sentence to read:

Notwithstanding any other provisions contained herein, an insurer may file a petition pursuant to Section 120.542, F.S. if compliance with this rule may be reasonably expected to result in such insurer being subject to financial regulatory action levels by the Office.

8. Form OIR-DO-1681 has been revised to reflect additional reporting requirements authorized by law. A copy is available from the contact person.

## FINANCIAL SERVICES COMMISSION

#### **Office of Financial Regulation**

RULE NO.:	RULE TITLE:
69W-301.002	Processing of Applications
	NOTICE OF CHANGE

Notice is hereby given that the following changes have been made to the proposed rule in accordance with subparagraph 120.54(3)(d)1., F.S., published in Vol. 33, No. 8, February 23, 2007 issue of the Florida Administrative Weekly. In response to comments received from the Joint Administrative Procedures Committee, OFR Form CAN, Canadian Dealer Notification, has been amended to remove the notarial acknowledgement. This form is incorporated by reference in subparagraph 69W-301.002(7)(a)15.

# Section IV Emergency Rules

## BOARD OF TRUSTEES OF THE INTERNAL IMPROVEMENT TRUST FUND

Notices for the Board of Trustees of the Internal Improvement Trust Fund between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

# DEPARTMENT OF THE LOTTERY

RULE NO .:	RULE TITLE:
53ER07-25	Instant Game Number 691, IN THE
	MONEY

SUMMARY: This emergency rule describes Instant Game Number 691, "IN THE MONEY," for which the Department of the Lottery will start selling tickets on a date to be determined by the Secretary of the Department. The rule sets forth the specifics of the game; determination of prizewinners; estimated odds of winning, value and number of prizes in the game. THE PERSON TO BE CONTACTED REGARDING THE EMERGENCY RULE IS: Faith L. Schneider, Legal Analyst, Department of the Lottery, 250 Marriott Drive, Tallahassee, Florida 32399-4011

#### THE FULL TEXT OF THE EMERGENCY RULE IS:

<u>53ER07-25 Instant Game Number 691, IN THE MONEY.</u> (1) Name of Game. Instant Game Number 691, "IN THE

<u>MONEY.</u>" (2) Price. IN THE MONEY lottery tickets sell for \$2.00 per ticket.

(3) IN THE MONEY lottery tickets shall have a series of numbers in machine readable code (or bar code) on the back of the ticket, along with a validation number under the latex area on the ticket. To be a valid winning IN THE MONEY lottery ticket, the ticket must meet the applicable requirements of Rule 53ER06-4, F.A.C.

(4) The "YOUR NUMBERS" play symbols and play symbol captions are as follows:

1	2	3	4	5	6	7	8	9	10	٢
ONE	THO	THREE	FOUR	FIVE	six	SEVEN	EIGHT	NINE	TEN	
11	12	13	14	15	16	17	18	19	20	
ELEVN	THELV	THRTN	FORTN	FIFTN	SIXTN	SVNTN	EGHTN	NINTN	THENTY	HIN

(5) The "WINNING NUMBERS" play symbols and play symbol captions are as follows:

1	2	3	4	5	6	7	8	9	10
ONE	THO	THREE	FOUR	FIVE	SIX	SEVEN	EIGHT	NINE	TEN
11	12	13	14	15	16	17	18	19	20
ELEVN	THELV	THRTN	FORTN	FIFTN	SIXTN	SVNTN	EGHTN	NINTN	THENTY

(6) The prize symbols and prize symbol captions are as follows:

TICKET	\$1.00	\$2.00	\$5.00	\$10.00
\$25.00	\$50.00	\$ <b>100</b>	\$1,000	\$10,000
TWY FIVE	FIFTY	ONE HUN	ONE THO	TEN THO

(7) The legends are as follows:

WINNING NUMBERS YOUR NUMBERS PRIZE

#### (8) Determination of Prizewinners.

(a) A ticket having a number in the "YOUR NUMBERS" play area that matches either number in the "WINNING NUMBERS" play area shall entitle the claimant to the corresponding prize shown for that number. A ticket having a

"Symbol in the "YOUR NUMBERS" play area shall entitle the claimant to a prize of \$50. (b) The prizes are: TICKET, \$1.00, \$2.00, \$5.00, \$10.00, \$25.00, \$50.00, \$100, \$1,000 and \$10,000. A claimant who is entitled to a prize of a "TICKET" shall be entitled to a prize of a \$2.00 instant ticket or combination of instant tickets with a total value of \$2.00, except as follows. A person who submits by mail a IN THE MONEY lottery ticket which entitles the claimant to a prize of a \$2.00 instant ticket and whose mailing address is outside the state of Florida will receive a check for \$2.00 in lieu of an actual ticket.

(9) The estimated odds of winning, value, and number of prizes in Instant Game Number 691 are as follows:

			NUMBER OF
			WINNERS IN
			56 POOLS OF
		ODDS OF	180,000 TICKETS
GAME PLAY	WIN	<u>1 IN</u>	PER POOL
FREE TICKET	<u>\$2TICKET</u>	<u>8.33</u>	1,209,600
<u>\$2</u>	<u>\$2</u>	<u>50.00</u>	201,600
<u>\$2 x 2</u>	<u>\$4</u>	<u>25.00</u>	403,200
<u>\$1 + (\$2 x 2)</u>	<u>\$5</u>	<u>37.50</u>	<u>268,800</u>
<u>\$5</u>	<u>\$5</u>	<u>37.50</u>	268,800
<u>(\$1 x 2) + (\$2 x 4)</u>	<u>\$10</u>	<u>150.00</u>	<u>67,200</u>
<u>\$2 x 5</u>	<u>\$10</u>	<u>75.00</u>	134,400
<u>\$10</u>	<u>\$10</u>	<u>150.00</u>	<u>67,200</u>
<u>\$5 + (\$10 x 2)</u>	<u>\$25</u>	150.00	<u>67,200</u>
<u>\$5 x 10</u>	<u>\$50</u>	<u>1,285.71</u>	<u>7,840</u>
<u>(\$5 x 5) + \$25</u> <u>\$50</u>	<u>\$50</u>	<u>2,250.00</u>	<u>4,480</u>
(MONEYBAG)	<u>\$50</u>	<u>391.30</u>	25,760
$\frac{\$10 \text{ x } 10}{(\$25 \text{ x } 2) + \$50}$	<u>\$100</u>	<u>6,000.00</u>	<u>1,680</u>
(MONEYBAG)	<u>\$100</u>	<u>7,500.00</u>	<u>1,344</u>
<u>\$100</u>	<u>\$100</u>	<u>8,181.82</u>	<u>1,232</u>
<u>\$100 x 10</u>	\$1,000	180,000.00	<u>56</u>
<u>\$1,000</u>	\$1,000	180,000.00	<u>56</u>
<u>\$10,000</u>	<u>\$10,000</u>	2,520,000.00	<u>4</u>

(10) The estimated overall odds of winning some prize in Instant Game Number 691 are 1 in 3.69. Prizes, including the top prizes, are subject to availability at the time of ticket purchase. Prizes may be unavailable due to prior sale or other causes occurring in the normal course of business including, but not limited to, ticket damage, defect, theft, or loss.

(11) For reorders of Instant Game Number 691, the estimated odds of winning, value, and number of prizes shall be proportionate to the number of tickets reordered.

(12) By purchasing an IN THE MONEY lottery ticket the player agrees to comply with and abide by all prize payment rules of the Florida Lottery.

(13) Payment of prizes for IN THE MONEY lottery tickets shall be made in accordance with rules of the Florida Lottery governing payment of prizes. <u>A copy of the current rule can be obtained from the Florida</u> Lottery, Office of the General Counsel, 250 Marriott Drive, Tallahassee, Florida 32399-4011.

<u>Specific Authority 24.105(9)(a), (b), (c), 24.109(1), 24.115(1) FS.</u> Law Implemented 24.105(9)(a), (b), (c), 24.115(1) FS. History–New 4-13-07.

THIS RULE TAKES EFFECT UPON BEING FILED WITH THE DEPARTMENT OF STATE UNLESS A LATER TIME AND DATE IS SPECIFIED IN THE RULE. EFFECTIVE DATE: April 13, 2007

## **DEPARTMENT OF THE LOTTERY**

RULE NO.: RULE TITLE: 53ER07-26 Instant Game Number 690, \$100,000 HOLD 'EM POKER

SUMMARY: This emergency rule describes Instant Game Number 690, "\$100,000 HOLD 'EM POKER," for which the Department of the Lottery will start selling tickets on a date to be determined by the Secretary of the Department. The rule sets forth the specifics of the game; determination of prizewinners; estimated odds of winning, value and number of prizes in the game.

THE PERSON TO BE CONTACTED REGARDING THE EMERGENCY RULE IS: Faith L. Schneider, Legal Analyst, Department of the Lottery, 250 Marriott Drive, Tallahassee, Florida 32399-4011

#### THE FULL TEXT OF THE EMERGENCY RULE IS:

53ER07-26 Instant Game Number 690, \$100,000 HOLD 'EM POKER.

(1) Name of Game. Instant Game Number 690, "\$100,000 HOLD 'EM POKER."

(2) Price. \$100,000 HOLD 'EM POKER lottery tickets sell for \$5.00 per ticket.

(3) \$100,000 HOLD 'EM POKER lottery tickets shall have a series of numbers in machine readable code (or bar code) on the back of the ticket, along with a validation number under the latex area on the ticket. To be a valid winning \$100,000 HOLD 'EM POKER lottery ticket, the ticket must meet the applicable requirements of Rule 53ER06-4, F.A.C.

(4) The "YOUR 2 CARDS" play symbols and play symbol captions are as follows:

TWS	3 THS 3 THC		5 FVS 5 FVC	6 SXS 6 SXC	7 SNS 7 SNC	8 ETS 8 ETC	IO TNS IO TNC	JA JKS J& JKC	KAS Kas Kac	
2. т₩D 2. т₩Н	3 THD 3 THH	4 FRD 4 ♥ FRH	5 FVD 5 FVH	6♦ SXD 6♥ SXH	7 SND 7 SNH	8 ETD 8 ETH		J↓ JKD J♥ JKH	K KGD K KGH	A ACD A A A CH

(5) The "THEIR 2 CARDS" play symbols and play symbol captions are as follows:



(6) The "COMMUNITY CARDS" play symbols and play symbol captions are as follows:

2 THS 2 THC	3 THS 3 THC	H FRS H FRC	5 FVS 5 FVC	6 SXS 6 SXC	7 SNS 7 SNC	8 ETS 8 ETC	IO A TNS IO A TNC	JA JKS JA JKC	2 QNS QNC	K KGS K KGC	
2 THD 2 THH	3. THD 3.♥ THH	¥♠ FRD ¥♥ FRH	5 FVD 5 FVH	6 SXD 6 SXH	7 SND 7 SNH	8 ETD 8 ETH		J∳ JKD J♥ JKH	Q QND Q♥ QNH	K KGD K KGH	

(7) The prize symbols and prize symbol captions are as follows:

\$1.00	\$2.00	\$4.00	\$5.00	\$6.00	\$10.00	\$15.00
ONE	THD	FOUR	FIVE	six	TEN	FIFTEEN
\$20.00	\$25.00	\$50.00	\$75.00	\$100	\$200	\$250
THENTY	THY FIV	FIFTY	SVY FIVE	ONE HUN	THO HUN	THO FTY
\$500	\$1,000	\$2,000	\$5,000	\$10,000	\$100,000	WPT
FIVE HUN	ONE THO	THO THO	FIVE THO	TEN THO	ONE HUN THO	PRIZE PACK

(8) The legends are as follows:

TABLE 1 TABLE 2 TABLE 3 TABLE 4

TABLE 5 YOUR 2 CARDS THEIR 2 CARDS COMMUNITY CARDS PRIZE

#### (9) Determination of Prizewinners.

(a) There are five tables on a ticket. Players may win in one or more tables per ticket. A ticket having a 5-card poker hand from a combination of "YOUR 2 CARDS" and "COMMUNITY CARDS" that beats the best 5-card poker hand from a combination of "THEIR 2 CARDS" and "COMMUNITY CARDS" shall entitle the claimant to the corresponding prize shown.

(b) A ticket having a " weiter " symbol in the "PRIZE" area shall entitle the claimant to a prize of a World Poker Tour® merchandise prize pack valued at \$560 that includes a quad-folding poker game table top, 300 chip set with dealer button, sunglasses, a set of 8 tumblers, a baseball cap and a set of watches. (c) The prizes are: \$1.00, \$2.00, \$4.00, \$5.00, \$6.00, \$10.00, \$15.00, \$20.00, \$25.00, \$50.00, \$75.00, \$100, \$200, \$250, \$500, \$10,000 and \$100,000.

(10) The estimated odds of winning, value, and number of prizes in Instant Game Number 690 are as follows:

NUMBER OF

			<u>NUMBER OF</u> <u>WINNERS IN</u> 62 POOLS OF
		ODDS OF	120,000 TICKETS
GAME PLAY	WIN	<u>1 IN</u>	PER POOL
\$1 x 5	\$5	30.00	248,000
(\$1 x 3) + \$2	<u>\$5</u>	30.00	248,000
$\$1 + (\$2 \times 2)$	\$5	30.00	248,000
\$5	\$5	30.00	248,000
\$2 x 5	\$10	60.00	124,000
\$2 + (\$4 x 2)	\$10	60.00	124,000
(\$1 x 4) + \$6	\$10	60.00	124,000
\$1 + (\$2 x 2) + \$5	<u>\$10</u>	120.00	62,000
<u>\$10</u>	<u>\$10</u>	120.00	<u>62,000</u>
<u>\$5 x 3</u>	<u>\$15</u>	<u>60.00</u>	124,000
<u>\$15</u>	<u>\$15</u>	<u>60.00</u>	124,000
<u>\$10 + \$15</u>	<u>\$25</u>	300.00	24,800
<u>(\$5 x 3) + \$10</u>	<u>\$25</u>	400.00	<u>18,600</u>
<u>\$5 + (\$10 x 2)</u>	<u>\$25</u>	300.00	24,800
<u>\$5 x 5</u>	<u>\$25</u>	300.00	24,800
<u>\$5 + \$20</u>	<u>\$25</u>	400.00	18,600
<u>\$25</u>	<u>\$25</u>	<u>600.00</u>	12,400
<u>\$50</u>	<u>\$50</u>	120.00	<u>62,000</u>
<u>\$25 x 3</u>	<u>\$75</u>	12,000.00	<u>620</u>
<u>\$25 + \$50</u>	<u>\$75</u>	12,000.00	<u>620</u>
<u>\$5 + \$20 + \$50</u>	<u>\$75</u>	12,000.00	<u>620</u>
<u>\$5 + \$10 + (\$20 x 3)</u>	<u>\$75</u>	12,000.00	<u>620</u>
<u>\$75</u>	<u>\$75</u>	12,000.00	<u>620</u>
<u>\$50 x 2</u>	<u>\$100</u>	<u>1,200.00</u>	<u>6,200</u>
<u>\$20 x 5</u>	<u>\$100</u>	<u>1,200.00</u>	<u>6,200</u>
<u>\$25 x 4</u>	<u>\$100</u>	<u>1,500.00</u>	<u>4,960</u>
<u>(\$25 x 2) + \$50</u>	<u>\$100</u>	<u>1,428.57</u>	<u>5,208</u>
<u>\$100</u>	<u>\$100</u>	2,000.00	<u>3,720</u>
<u>\$250 x 2</u>	<u>\$500</u>	120,000.00	<u>62</u>
<u>\$100 x 5</u>	<u>\$500</u>	120,000.00	<u>62</u>
<u>\$500</u>	<u>\$500</u>	120,000.00	<u>62</u>
PRIZE PACK	<u>\$560</u>	<u>2,222.22</u>	<u>3,348</u>
<u>\$250 x 4</u>	<u>\$1,000</u>	744,000.00	<u>10</u>
<u>\$200 x 5</u>	<u>\$1,000</u>	744,000.00	<u>10</u>
$\frac{(\$100 \times 3) + \$200 +}{\$500}$	<u>\$1,000</u>	744,000.00	<u>10</u>
<u>\$500</u> \$500 x 2	<u>\$1,000</u>	744,000.00	<u>10</u>
<u>\$1,000</u>	<u>\$1,000</u>	744,000.00	<u>10</u>
<u>\$2,000 x 5</u>	<u>\$10,000</u>	1,860,000.00	<u>4</u>
<u>\$5,000 x 2</u>	<u>\$10,000</u>	1,860,000.00	<u>4</u>
<u>\$10,000</u>	<u>\$10,000</u>	<u>1,860,000.00</u>	<u>4</u>
<u>\$100,000</u>	<u>\$100,000</u>	1,860,000.00	<u>4</u>

(11) The estimated overall odds of winning some prize in Instant Game Number 690 are 1 in 3.81. Prizes, including the top prizes, are subject to availability at the time of ticket purchase. Prizes may be unavailable due to prior sale or other causes occurring in the normal course of business including, but not limited to, ticket damage, defect, theft, or loss.

(12) For reorders of Instant Game Number 690, the estimated odds of winning, value, and number of prizes shall be proportionate to the number of tickets reordered.

(13) By purchasing a \$100,000 HOLD 'EM POKER lottery ticket the player agrees to comply with and abide by all prize payment rules of the Florida Lottery.

(14) Payment of prizes for \$100,000 HOLD 'EM POKER lottery tickets shall be made in accordance with rules of the Florida Lottery governing payment of prizes.

<u>A copy of the current rule can be obtained from the Florida</u> <u>Lottery, Office of the General Counsel, 250 Marriott Drive,</u> <u>Tallahassee, Florida 32399-4011.</u>

Specific Authority 24.105(9)(a), (b), (c), 24.109(1), 24.115(1) FS. Law Implemented 24.105(9)(a), (b), (c) FS. History–New 4-13-07.

THIS RULE TAKES EFFECT UPON BEING FILED WITH THE DEPARTMENT OF STATE UNLESS A LATER TIME AND DATE IS SPECIFIED IN THE RULE. EFFECTIVE DATE: April 13, 2007

# DEPARTMENT OF ENVIRONMENTAL PROTECTION

Notices for the Department of Environmental Protection between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

# Section V Petitions and Dispositions Regarding Rule Variance or Waiver

# BOARD OF TRUSTEES OF THE INTERNAL IMPROVEMENT TRUST FUND

Notices for the Board of Trustees of the Internal Improvement Trust Fund between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

#### PUBLIC SERVICE COMMISSION

NOTICE IS HEREBY GIVEN that on December 29, 2006, the Florida Public Service Commission has issued an order.

Silver Lake Utilities' petition for waiver of rule variance from paragraph 25-30.033(1)(1), Florida Administrative Code (F.A.C.), filed December 29, 2006, in Docket No. 060726-WS, was approved by the Commission at its March 27, 2007 Agenda Conference. Order No. PSC-07-0328-PAA-WS, issued April 16, 2007, memorialized the decision. The rule required